Ag - HE 24 2 23
1. 20139 & LB 2 A5 ELIA(SINYEE ) Z2UEE2
O Ol &kl o 712,464,212,0303 (ME = Ol 3 129,581,712,030& £ & )0ll CHSHA
=g H= 721,503,276,920& 0] 1J
ANEXE2 580,246,705,571& Ol H
0 1 XeI&RZ2 141,256,571, 3498 =2 X NI EEH XM52E2 #AE0 2AA JIEHPHE0 AtS st 0o
(2= 0&,0l Xt 03)=S SHE 141,256,571,34938 2 S HEZ USAHEZ
2r24 Ol etLt.
0 OSHE O8N S0ll=
FAIOIE 44,350,5633,8798 (A= Sl A0S 0&)
A0l E 9,877,601,360& (XAU= A= AtLDOIE N 0&)
H=Hl0l2 57,671,787,840& (X3 8l H=HIOl SN 0&)
(2 -SHH)EXZ ZHENH 3,798,213,949& 0] ZSL O U2H OIE SHet =MHTNH=2 25,5658,434,321 & 0l Ct.
2. 20138 & Ets| A=
0 Ol &+ o 609,708,501,210& (ME < OIE 3 106,594,121,210& £ & )0ll CHSHA
=g H=2 613,438,970,691& 0] 1!
ANEX2 507,994,984,479& Ol H
0 1 Xel&rR=2 105,443,986,2128 2= M XIS THE Y M52x2 #E0l 2/ H et/ H A2 JEIHFaE0 AtS et 0o
(23 0&, OIXt OR)S SHE 3AHE = &9 105,443,986,2128 2 3| HEZ LS AHAXO
212y 0l & etLh.
0 OSAHEZ O8N S0ll=
HAIOIE 41,279,092,489& (X3 8ls SAI0E A 0&)
A0l & 8,332,195,230& (A= 4= AtLDOIE N 0&)
H=8012 33,264,504,550& (X3 8l H=SHIOI SN O%)
(2 -SHH)EXZ S HENH 3,738,327,229& 0] ES &0 ULH 02 SHE =AHLNH= 18,829,866,714& 0| Ct.



g W

i

Ct.

(&)

()

()

()

(&)

()

20138 BIIHESIAHE HIXS 500 ESS AU e
szzMNEE
Off &k S R 102,755,710,820& (M E S 01 &3 22,987,590,8202 Z&)0ll CHGHO
T=HAH2 108,064,306,229& 0] 1)
ANEH2 72,251,721,092& 0l 4
0 xemHe 35,812,585, 13722 NLTHAE S K525 AHU 23 IS HA I ZHRL 20 ASS
(23 0, 0l% 0%)2 BRIS MY Y013 B 35,812,585,13742 3l A ¥z LS S0l
242t 012 B}
ST 08 S0lls
HAIOl 3,071,441,390% (X3 = TAIOI SN 0&)
A0l E 1,645,406,130& (A2 A= AHD0I B X 0&)
H=H0l 3 24,407,283,290% (X3 Sl= HSHIOI M O&)
EXc AL 59,886,720& 0| Z& &0 ULH 012 SHet =MHALAHZ 2 6,728,567,607 & Ol Ct.
BIIYSHIAE XSS JESHE N =L
Ol &F 3 oK 2,077,208,000& (8 EF = 0l 3 ORI Z &0l CHot ™
=g H= 2,157,708,473& 0] 12
ANERZ2 1,816,066,542& 0| H
0 xemHe 341,636,931 RO 2 4 XYM Y H52E AF 0K AN JEISHIA NI I EHS Y0 ABS 02
(22 0%, Ol X 0%)2 THIE MY L0iBEY 341,636,931 202 3| E2 O ol
242t 0| F BT
ST 018 S0ls
% Al 0] 2 0% (X2 els YOI 0%)
AT 0] 2 0% (X2 gl ALDoIE 0%)
2 bl 0] 2 0% (X2 els H=HlolHY 0%)
(= - SHNEXS3 A 59,886,720& 0] ESE(H U2H 0IE SHe =MHLAHS 2 281,750,211 & 0| Ct.

JIEISEH HE2=2



[

bl
Ol
>
Jim
g
tol
x
rr
ro

0 0 &3 o 424,819,000 (R EE 0|23 02 =)0l O 5t Of
e 493,920,572210/
NEE 245,885,820 2 0| Of
01 xoImAUe 248,034,752 02 N XL H Y R52ZF S AEO 2AH I ENSAE0 ALS & 02
(23 02, OlX 0R)S THS Sl YHS 5 248,034,752 2 S| HE 2 C+S 0
242} 0| 3L,
0 IS T 018 S0ls
% Al O 2 0% (X3 8= YAIOIZ 08!)
At D0l 2 0% (X3 8= ALD0IE 08!)
7 2 1l 0l 2 08 (X2 8t HzHloBY 08!)
BEZ MY 0ROl EEE N U0 02 BHE =MHYNWS S 248,034,752 0| Tt
ZEAY JIEtSEEHE=(2)
0 0f &3 o 0R(ME T 0/22 02 =30l O 5t 0f
e 0% 0l D
NEEE 0 0l o
0 1 XoImoe ORCEZN XNYMEY M52X2 RE0 2N I EHR A0 AS S 08
(23 02, OlXt 0R)Z THS S YHS 5 X 02 ENLR GSAT0f
2t2¢ 0l @ &tk
0 iSOG 0l Z0ils
% Al O 2 08 (X2 gt YOl 08!)
A0l 2 0% (X3 8= ALDOIZ 08!)
H = 1l 0l 2 08 (X2 gl HzHloBY 08!)
BEZ YT 0210l TETO0l U2 0/2 ZH =AHL0I S 02 0ICH.
2 Z0IIZINEISEIANE(2)
0 Ofl &tEt oy 1,541,962,0009 (HEE 0|23 02 = 3)0ll O 5t
e 1,532,932,2118 0 2
NEEE 1,459,753,7222 0| Of

0 1 XQ&R= 73,178,489 22 X NI HE Y MbL2X2 #EU 2AAH JIEHR &0 AHS st 0



A
&)
0l0

IHEZ T

1oy

0l
or

73,178,489

Ol Xt

0%

o

oM

i0J

Bl

Al
Al

!

K0

=
o

Bl

A
o)
0[0

0 Ct

A0l & X
H =801 A
ZSEH0 A2M Ol

HIOl &

A~

S A0

A0l &
Al

10l Ct.

o
=

13,291,769

o

Ml A O

<H
0]

3

Al

[0

=
=

4 0]

o
=

o

KJ
00
KD
ro
KA
H

59,886,720

0l

I

o}
il
uir

—_

0
iy
3l

£
Ki

0
A

0l 1)
Oltd

&

0
0
0

0l

=
o

-

JD
e

2|

=

o
2

SM XNYHEY HbE2E22 REU 2 H DI

o

ol
3
K

oJ

0 2l

Ol Xt

2|

o
—

0

)
o)

ofU

Al

oF Al

I

Kt

=
o

Bl

A
o)
0[0

0 Ct

Al Ol E %4
=HI0I 3 N

Al
|0 ASH 0

Bl Ol &

sy

FAIOIZ

A0l E
Al

Ol Ct.

0

030l Zgk

3
K
0

KD

o
KA
H

—

He Ol =

PN
(i

_I

2 (

=

o

110,427,000
130,850,690

(2)

—

—

[0 JIBtAIEDIEF S E 3l Al

40] 1)

o
=

0l

=
o

-

)
8

10l

=

o

110,427,000

SM XNSHEY M52E2 #E 0 2 I

2o

ol
o

KJ
oJ

0 1 X

20,423,690
Ol Xt

| HE=Z LS A 0l

=)

e
—

20,423,690

=

k{0
Mo

2/ HE N

st

=N

0,

o

od

0]

Ol

Al
Al

JI

Kt

==
(@]

ofl

A
&l
01

0 Ct

-/

Bl Ol & %4

=
=

Al

Bl Ol &

s

ZAI0[2

At 01 &
Al



i A &AH OO0 EZEHN JUSH 0IE ZHE =MAHALH=2 20,423,690& 0Ol Ct.

SIIHSELES = JlgsA2LA0 et € A4S ot JALH(EHM), 20 BIIFSL3HY 83 s=XE HAGY s 20
(9 :g)

Al 2 = 0 : -
sl A g 0l & 31 24 Ar >4 At o - . ) 2 2 X2 | . yoma
3| o4 Al O] & k= 2 H| 0] = 8 -0 =M 202

o = T

Al 100,678,502, 820 105,906,602, 756 70,435,654 ,550 35,470,948,206 3,071,441,390 1,545,406, 130 24,407,283,290 0 6,446,817,396
o8 == A Y S 2 3 H 36,070,276,000 38,530,641,498 32,988,595,250 5,542,046 ,248 1,115,067, 600 1,444,646,730 0 0 2,982,331,918
o = & A &g £ E2 3 H 64,608,226, 820 67,375,961,258 37,447,059, 300 29,928,901,958 1,956,373,790 100,759,400 24,407,283,290 0 3,464,485,478

A s Y 2

O

SE3H2 HMSAME 2LUS

o
VE
02!
&
my
m)




